
   

S0204 + 

+2x M6 x 30 DIN7984 
+2x 123120306 

M8 x 45 DIN7991 
+ 123121408 

TRIUMPH  
Street Triple 675, 13–16 

reverse shifting 
Part Nr. 5450 

818170 

681D + 
2x M6 x 16 DIN7984 

813RD 813LB 

8320 

M6 x 20 DIN7380 

between 817 a S0200  

+ 123120306 

M6 x 12 DIN7991 

82530 +  

M8 x 30 DIN6921 

810R + 

M6 x 25 DIN7991 

 

M6 x 45 DIN7380 +  
816L + 123122006 

+ M6 DIN985 
 

 

M8 x 50 DIN7991 
+ M8 DIN985 

M8 x 30  

DIN7991 

M6 x 16 DIN7380 
+ 816R 

8291 

PACKAGE: 

M8x35  

DIN6921 

807Z +  
M8 x 20 DIN912 807Z +  

M8 x 20 DIN912 


